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Q. No. 1 (a to g) carries 1 mark each (dny fbur) ............. 1x4 = 4
Q. No. 2 (a to g) carries 1 mark each (any four)......... I....1><4 =
Q. No. 3 (a'to ni) carries 2 markg each (any ten).......... 2x10 =20
Q. No. 4 (a to m) carries 3 marks ‘each (any ninéj........... 3x9=27
‘Q. Nos. § (a to e) carries § marks each (any three)........ 5x3 =15
Total =70
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1. Answer any four from the foilowing questions : 1x4=4
©oR el BifabY e T i 8
A (TR 51715 08 Te (=0 8
et wrERaeEr qie St e fen
(a) Which one of the following is not a sub-field of Economic
Geography ? ’
eI (PRSI AT QLN ToITa W 2
R @R ST GooleR TocTa 7Y 2
TR TR TETRER EERi T T TE—
Choose the correct answer :
®% CeIH! AR s
% TGl AR5 NS
s freE 99a’
(i) Geography of Resources
T PCalleT
R LA
g HEN
(ii) Geography of Industries
Trlal wealte
Tagiel greie
TR e
(iii) Medical Geography \
fofde grane \
il raie
gafe qaE
(iv) Geography of Tourism
o B
6 BN
BRI E R G ICIN]
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(b)) Which one of the following age range of persons included in
the group of working population ? ' ’
NCRIE (@I ITR (1T T30 ORI (150 TTLE ?
xe N IWER 76 TS TR TBYE ?

IR nra‘l S FASTE! A gy S gASEe ST 6 2
Choose the correct answer :,
&% @7(57377‘5 Shrea ¢
% TGS o T ¢
e e 9’
(i) 15 to 55 _yéars
¢ I 74 'ae I
Se (AT e IR
15 From 55 WrER
(i) 15 to 59 years
5¢ T [ ¢ IR
S (AF ¢d TR
15 %@ 59 EER
(i) 20 to 60 years
30 I 54 vo I
R0 (ACF Yo IH
20 fwM™ 60 =R
(iv) 18 fo 66 years
S ¥ 99 Yo TH
St (AT Lo I
18 Fw™ 60 FER
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(c) Which one of the following is not a plantation crop ?

fFafElRs eRfa @I < 9= 2
R oS SR T 2
MR TR Bl faw MEAE g ST ?

Choose the correct answer :

o7 CeICh! IR TS &
\maﬁﬁmﬁﬁﬁﬁﬂaﬁwz
R qua?m@ g’
- (i) '~ Rubber
K
- ER

(i) Coffee
fe
fF -
#fn
(iii) Wheat
(2
o
m ; \
(iv) Sugarcane
TF A =

g
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(d) Which one. of the following is a tertiary act1V1ty ?

R TalRe m:m—‘ﬁwﬁ9
ﬁﬁﬁ@C@ﬁ%?ﬁﬁﬁﬂﬁiﬁﬁ?
Tmmﬁiv@ﬁmrméaramﬁxam—-

Choose the correct answer :

o7 Gt AR TS 3
" ug GGG o P S
e g aeE’ :!
. (i) . Trading
BIEMIE
PRy
I
(i) Fishing
IR
RIERA

a1 gH ™ : : °

(iii) Forestry |
- A

AT

g faen
(iv) - Hunting : \

foor =

o =

Hgt WA
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(e) Which one of the following stream\é is dominated by male
migrants in India ? , A
| TS T(ER TN ORI (NG GO (TS AR A 2
RIS SR (I SR (16 ~Fe4 2
| e W YR SRR T eeEARr SRR S TR ?
Choose, the correct answer :
o7 Geh! R Clersdr ¢
o7 Teafs o e ¢
’ e fEmrE 9’ |
(i) Rural to rural
B R
A (AT AT
mifeE it
(i) Rural to urban
AR 2N FoieeT
A (AT YR
MR AR
(iii) Urban to rural -
A5 o]0 sl
RY (A AN
Ainfrem mhEfem
(iv) Urban to urban |
TN AN oI
X (A A
iR iR
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(/) Which one of vthe following is an Ancient town of India ?

mw&mammmﬂm (A w51 2
fefeike srewc *mrefm o el = @R

R T R GRS e A e S 2 N

Choose the correct answer :

@E@WV@@%@:
&% TG0 Ao PN 2
1 frEe o’

()

(1)

¢ (iii)

Lﬁcknow
aﬁ;ﬁ

I

&R
Varanasi
SIEil
Sl
SR
Agra

S

o

oImn

(iv)
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(g In Indla, in which year of the followmg, the ﬁrst radio
‘ programme was broadcasted ?

SeEE FRRRS @I Tge ddw @ SHIdR 2R T e
SR RIS (P ITF 227 @oS (o) (el Tepis Al @

mz@ﬁwﬁuﬁmmﬁrﬁa@ﬁaﬁq(ﬁa)ﬁmﬁ
HEETE S ?

Choose the correct answer :
o7 GeCo! AR Clasd ¢

&% Tealb [Waio Pl 8

o R wEE’

- () 1923
PR
YO
1923

. i) 1927
SoRAa

SaRA4

1927

(i) 1930
SYavo

Sovo

1930

(iv) 1957
bE1¢dal
yoea

1957
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2. Answer the following : (any four)
frsreTizm O &1l ¢ (Reprear o1faor)
Raeslim e @l e (@@ 5El)

MerETe BAERR feE TR ((Sraasrar @)

(@)

(b)

(c)

(@)

(e)

" (9)

Mention one factor affecting mining activity.
LARPIRS 2SR (ATl <51 P T |
YA 2SR (T @ G DI T A |

G AEYEE e Sie T G S @,

Mention the name of one mineral-based industry.

Fefoles fa by am T =01
3t IFeiefes Fmm A TE FE
i faarR aftfft dma | =@’

Mention one forest-based raw material using industry.

- FGSfeT (GME IR I Tomis GRe” W |

TGS I I W 9T G He A @ |
A fagrfk el ga1 srEEE IR @t § for
Mention one type of water transport.
AT GBI I S |
TSR I W B Al

2 Jmefy HeR AEm Ta'

Mention one hill district of Assam.

TR G AR TR AW Temd /14|
TR G0 ALYy (@R AN TR FE!

' aEmtT TR esienR faentt | w@’

Mention one tributary of the river Barak.

[T AT Q4 TR N S ¥ |
[T AN G0 TANR AW B FCA |
T T A e S g wE
Mention one cause of Acid Rain.
«foT z7ge T @B IR T I
it e @b I TEd IR |
s @ aEfsEE A9 SRE 98|
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3. Answer in brief : (any ten) 2x10=20
oy Ses At 8 (Riciear w2bt) '
e Ted WIS ¢ (-l wif)
' e R (Srafeerar qriT )

(@)

(b)

()

(d)

(e)

Mention two fields of Human Geography..

T QR 75 (Fa T 4

TR GANER 76 CFa S |

gd EERif 77 s (fafea) =@’y

Write the formula used in India to calculate the sex ratio.
elrewc IRe o sreire R s @t

SRS IRTS o S [dfae T @b @l

ARG TN TN S T SreT Aegdae! R |

Mention two primary activities of human occupation.

TR SR IR Foove 707 @iafie gies T T 41|

TR SRERE Wy 75 aefie Jfer S Tt FaE

it fosat @77 i warwid § wa'

Mention any two among the four pillars of Human
Development.

ﬂﬁﬁﬁﬁ?ﬁsﬁﬁf@éﬁﬁk@ﬁﬁﬁ?ﬁ@wﬂﬁﬂl
Wiva Riei 51l S8 (I~ 716 S I |

- gg Srmef Ha et srafaerar g 7E’ |

Mention the two divisions of subsistence agriculture.

(ol 3R SR Rl 751 B 91|

Gkt fRdicza TR srwfen Renl 76 Trae T

53 T sTeef urE FiEr wE’ |

Mention two reasons for low level of Human Development in
most of the Northern States of India.

E@%eﬁﬁiawmﬁaWW'mmrwwmvw$@iﬁﬁﬁﬁms@m@ﬁﬁaﬁq
TEd ]9 ‘

%ma@ﬁraawvﬁammﬁmfﬂmawmm@mmﬁaﬁameﬁawmam%
IR T AL
W-RAT T SRRERE g ge9e S g er arai St
A7 SRR T |
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. (g) Mention two mining towns of India.

RO 737 fSfeT To1eT I Trmd 40|
SRS 7o WSS Wz TN T @
YRA FERM T4 @S T AR g @

(h) Mention two crop seasons of India.
SRS 75 PR AT AN S 4 |
SRS 775 FR-IGI AN T@d I |
YR BRI A e SERf 5 7@’

(i) - Mention two types of Non-Ferrous metallic minerals.
7Ry ST Ghefis AT I AN SrEr 34 |
72 9P O-(TIRS 4o IRE smwieda A e |
el e e gk e g g )

() Mention two major sea ports of India.
©ISAR 75! A Y TS AN A
OIS 715 Y YE TR AN RN
ST BRI A7 e Aehe dm melety o fe

(k) In 1911, between which two places, the Air Transport in India
started for the first time ? : .
5553 5O SRS (M 737 3127 NS Ffeiew Ruw +f{ae wiee a1

2
53 T SREITE (T, 715 2R Sty e Ram ~Ree oEs w1
7 2 -

1911 mmmwaﬁtﬁ;ﬁ Hr+ st e fifefay fad
Mg SMEAE S 2
() Mention two Airports of South India.
wiF el 75! R IwRT I &
T SRS 7 R IR AW
el wratt 7 facd meiefT § fem
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(m) Which two are the types of International Trade ?
oS e oo B R e
Qe A s 76 | e
BRR TRIR Wity @ F7an = | ?

4. Answer the following questions in about 100 words each : (any nine)
3x9=27
NN S VU S S
RxfRe emefr s Ter soofs *itvm foow we ¢ (et 7))
TR BT ARERR A et e 10014‘1@@3&1%@@
( SFTARETET W)
.(a) Explain the factors that influence human mlgratlon
G SAGNO AR (AT Wamm |
WW&WWW‘T@%W%WI
T ST e e S S

~ (b) Explain the meamng of human growth and development.
i 3 e R s g <
TRR 3 32 R el gt =l |
Tt 3 o ST siferst Sde
() Write briefly about the 31gn1ﬁcance of the Trans-Siberian
' Railway.

BT-HRESIN wersian Reiag s=itd ot o

G- MRERE (@Il Roag T5ics ool el |

AR Yoy ghrfaf W g1 R
(d) Write briefly on the linear pattern of settlement.

aRie 1o R syt

wRe Ffen R seewe @t

BERR s aREEEH WMk g2 fer
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(e) Write briefly the various factors and conditions respon31ble for
different types of rural settlement in India.

mﬁﬁwmaﬁ“a—mcﬂm@wmw
R v ol 1.

wﬁﬁﬁwmﬁqwﬁrwﬁ@mﬁmqm\w@%a
R ACF @A

T TR T T AR MR SR AR et
IR TR 1%|a1=ri=—r %ﬁﬂﬁ gl feri
() Write briefly on Tea cultivated areas in India.
TRIFS B1T (AT G Raw vt |
SRS BI-IER (FaslE RIw IwewA @t
TRd SRNE HRl-TERH iMEasRi 9 ged fer)

(g) Explain briefly the meaning of Energy Resources and give two |
examples.

e e o By I W S 757 Treet A
& Tt O TR I I G 76 TrrmRel s |
vfm weft ofify gg'd Jwa o @iy fafefar &)
(h) Mention why the iron and steel industry is considered as the
basic to the industrial development of any country.

Siey R =W 2

@mmﬁmmm—cﬁim\?wmﬁmmcﬁﬁm
A @ NG AR 2

wrEtEsan greri SRR Simaraft seme 9r o ferm a7
B T TR (STSTEAE) S 2
() Define the concept of Sustainable Development.
TS SHTNR AIREACE! 390 < |
< SR RO o S|
SiRfy SiTEf aciaeEt S8 |
G) Write about the width-based railway cétegories in India.
TR aFsfofes (weaie Ko Raca
ORI dRfofes @asid R Raw @it
YA BERFT sty faemR Yeemn areeRty S fem
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(k) Write brleﬂy the favourable environment prevailed in Assam
for tea cultivation.

Wcﬁwwﬁwwmﬁmmﬁw

PTG BI-BICER & TR SgE SIREeR RE AR el

fer| ‘
() Write briefly on the sub-sectors of Cotton Textile Industry..

AR T e oo R s ol |
il T iR ToiReren R ACwe el |
G-I A R e’ @i | 988 feri
(m) Write briefly on the concept of High-Tech industry.
Tw- 243 TomR QIR TIE SRee B
- Tw-agfed MR qiRel T RO @Il | .
ot Feriarfir RART Tl AR g fe
5. Answer the following questions : (any three) 5x3=15
oS Al eppTRs Bl fawt ¢ (Rieeren fofaby)
e e T wie ¢ (@@ o)
TEEE e WAEERE fEE @ (SrERawrar G )

(a) Define human geography and write briefly how is human
geography related to other social sciences. ' 2+3=5

i Geoller 7! Rl Siise T geolted e i sirer e siore @fve

o ferall |
AR ST I WIS IR TR BT enaa?r“mwmﬂmﬁwzﬂaw |
GIC® ACHCA (ETC | '

@Wmém%w@mm@mﬁﬁm
amrr € g8 fem

(b) Discuss the factors influencing the distribution of population.
G Re2ee 2feR (ATl PIITI RIQ@ SCEival T4 |
TR AT AR REFIR] IR I 61 Tl |
ge SR MeEEE TN WeH . SRR | 9EE |
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(c) Explain the advantages of water transport system.
Tel SR RN RGP [T 4 |
Gel sifae I[P ARk [ T
& s e R
(d) Explain the major causes and effects of water pollutlon in
India. ' ' 2+3=5
SREES TEATIIR Y4 FRE OIS Ol AR 1y |
SR G TR Y0 SRR @8 SR AN P I |
YR BRNE § TSt els Sen awrﬂ Eisfsicsceifieicel

(e) Draw an outline map of India and mark the locations of the
following therein : ’

- SR (7412 SIS @3 WA SKIW I SIE ©0 oo (Al
| SREN (YS! 8
rﬁmmmmaﬁwwwﬂmm\mﬁw
ﬁ"%ﬁ‘l‘@ﬁﬁ S (IS 8
ORfrffam feferm wRa eRRM TR 7 WEmR e R SAE TR
R et fef
‘(i)' Numaligarh *
TG
KRS
(i) Srinagar
Glogs
ez
FR ' \
(iii) Narmada river
| s wa
Ty S
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